Question Paper Title : TI_11

Date of Exam : 08-07-2019 10:00 AM

Reference ID:(7380)  SIIG¥leq AHCIAT Xeg ST

A FIETTG

B.YFT
C IAYTeRUT
D.Riam™Ide

Answer: A HI&UTC

Reference ID:(7372) Choose the correct form of verb that is in agreement with the subject:

George and Michael left backpacks at school.

A.his
B.their
C.there

D.its

Answer: B.their

Reference ID:(7387)  dRg Gafar fAds &

Answer: B.olgql

Reference 1D:(7608) WU HIVTET TR HATSH el REBRM 2018 T HRUGTd T2
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Answer:

Reference ID:(7373)

Answer:

Reference I1D:(7354)

Answer:

Reference ID:(7398)

Answer:

B. Tl HIR®HR
C.3[dP] TTRIH

D.3fad ARM

BT HIRI&®HY

Out of the following options, identify a simple sentence.

A.Creams can make our skin smoother.
B.People start new business if they don’t get jobs.
C.lt was a do or die situation for our soldiers.

D.The cows will come home when it gets dark.

A.Creams can make our skin smoother.

Choose the appropriate option with the correct punctuation marks for the
given sentence:

Oh my god i forgot to bring my lunch box today

A.Oh my God! i forgot to bring my lunch box today
B.Oh my God; | forgot to bring my lunch box today
C.Oh my God! | forgot to bring my lunch box today.

D.Oh my God, i forgot to bring my lunch box today.

C.Oh my God! | forgot to bring my lunch box today.

T, 3, 8, 8 Ao PIurd qul T Sfied@d Srdrd?

ADHS
B.dd
c.gd3
D.3s3Y

c.gd=x
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Reference ID:(7361) Choose the appropriate articles for the given sentence:

Varanasi is town in Uttar Pradesh on Ganges.

A.a, no article, the
B.the, the, no article
C.a, the, the

D.the, no article, the

Answer: A.a, no article, the

Reference ID:(7365) Which of the following options best combines the two given sentences?

| drop this glass. It will break.

A.l drop this glass but it will break.
B.1 drop this glass yet it will break.
C.Dropping this glass, it will break.

D.If | drop this glass, it will break.

Answer: D.If | drop this glass, it will break.

Reference ID:(7356) Choose the correct form of adjective for the given sentence:

The curator of the museum showed us some coins.

A.past
B.soiled
C.ancient

D.ruined

Answer: C.ancient

Reference ID:(7622) uﬁwanemgmeﬁa 1 UHR 3Ts.
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Answer:

Reference ID:(7646)

Answer:

Reference ID:(7351)

Answer:

Reference ID:(7643)

Answer:

ATT

ARy Yoha- ueadi|e, ‘rbm std Iro pus’ TUN ‘the cat is beautiful’, ‘thh pus
dim std’ TUS ‘the dog is brown’ 3O “ dim Iro pus eus’ B ‘the dog has
cat’. TR ‘has’ IT3! HIUTAT Yobd IR 3MTg?

A.eus
B.lro
C.std

D.dim

A.eus

Choose the option that has the correct spelling.

A.Dictionary
B.Dictionery
C.Dectionary

D.Diktionary

A.Dictionary

Ueh] fohcha=al dgd ao 160 UH 3Tg. 12 I 3ciedl Uehl Udd doi fdbal
3 d?

A.1200 UH

B.1600 UH

C.1920 99

D.1620 ¥H

C.1920 ¥H
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Reference ID:(7357)

Answer:

Reference 1D:(7390)

Answer:

Reference ID:(7371)

Answer:

Reference ID:(7609)

Fill in the blank with the correct noun for the given sentence:

Without a certain amount of , it is hard to cope with even everyday
events.

A.managerial
B.management
C.manages

D.manage

B.management

R St g uata fRaeT.,

AT
B.H

CIYy

AT

Choose the most appropriate usage to fill in the blank in the given sentence:

The at the railway station was not clear.

A.announcers
B.announcement
C.announcing

D.announced

B.announcement

Hfad pYHS TNIGHRITS HERIPHYT STet AfGaT fba REBR 2018-19
Qreitade! S e

ATRT R
B.Ward! RS
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Answer:

Reference ID:(7626)

Answer:

Reference ID:(7367)

Answer:

Reference ID:(7395)

Answer:

Reference ID:(7601)

D.TeTast St

B.Iard! RS

ST ST GaTd IRIRT 9 20 T 3115, Il a4 UK 7:1 3178, dfeard
I DY 3HTg?

A.32 Y
B.35 Y
C.30 dY
D.28 Y

B.35dY

Choose the appropriate prepositions for the given sentence:

The survival the circus is due to its ability to change the times.

A.from ... for

B.with ... in
C.of ... over
D.of ... with
D.of ... with

Dol SHfABRI Teg G AR SIS UAT DHTH DHRATd SHTTOT R G T ------
3 T,

A RIs3TNT

B. Ayt
C fepanfa=ivur
D. I+l

D. 34!

RIS HTIGT 2005 IR, HAADH 3N, Ufgel sfUTet fHabrarrd
CARIBIEANIER feai arefaa SIrs; Qb
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Answer:

A.07

B.10

C.12

D.15

D.15

Reference ID:(7634)  Udh W1 80 dcd] rahdll SITdl! HTIUT '3 B URSAT 14 AT fHesd. ST BTl

Answer:

gTefwshuul hopdl. ‘381 T fes U AHTHdT BTl

A.7/40
B.40/7
C.23/40

D.40/23

A.7/40

Reference ID:(7399)  JaId AIyRIRI<AT A1 ST Uaid e,

Answer:

IHST SR fdd s HIU-

AR TId! HHU[E 60
B.U HIS 1 H0!

C.HY H1H 7 HI0|

D RfeRideR B0l

B.gU U1 &1 H0I

Reference 1D:(7629) T SATIOT TR SUAR UIRR 5:7 318 S0 e Wi IR 3IehH 2:3

Answer:

3. SR UAP o+ 2500 SULTH F2d dbelt, TR i I Blal.

AIFA = 10,000 U 30T T = 8500 ST
B.YH = 12,500 ¥U IO T = 17,500 ST
C.3H9 = 11,500 JYY ATOT T = 16,500 ST

D.3H = 13,500 ST HTOT T0H = 15,500 SUA

B.YHT = 12,500 ¥UY 310 TR = 17,500 3UY
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Reference ID:(7352) Choose the option that has the correct spelling for the missing word in the
given sentence:

He used to get the candy.

A.artifice
B.artfice
C.artifise

D.artfise

Answer: A.artifice

Reference ID:(7642) SR p = -2 38, TR (27x4p) — (-16x4) +7 BIEI.

A.273
B.-145
C.287

D.-264

Answer: B.-145

Reference ID:(7355) Choose the correct form of adjective for the given sentence:

There has not been rain this year.

A.too many
B.sufficient
C.great

D.significant

Answer: B.sufficient

https://www.freshersnow.com/previous-year-question-papers/



Reference 1D:(9690)
arell e hATHEY, T¢ 10Tl 3l A5er?

LR

v

Answer: I—”J |

Reference ID:(7624)  TUUSRIANT HIv oIS TR HHR B HAT?

A 3R (3HRS) fhur
B.EGH YT fobul
C.31AT faxul

D.&-foxul

Answer: A. 3R (3RS) fbul
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Reference 1D:(7388) JURRAT fehaTgarT 9 TR 3wl
SIS JaTaT 91 HRAd.

D.Heldd

Answer: B.E@W

Reference ID:(7397) 19 3Tf01 Ya=H i arddTdial fohamaar=h AUk See <1 faeRi-T graaa
ST, T D1 FUIdTd?

A fayadt

B.9HIY

cC.gd
D.3dhR

Answer: A fayedt

Reference ID:(7363) Choose the correct form of verb for the given sentence:

Kidneys waste water from the body.

A.eliminates
B.eliminate
C.is eliminating

D.are eliminated

Answer: B.eliminate

Reference ID:(7641) Y Ugraa fHasr.

A.—89 — 25 = - (-25 - 89)
B.—36 — (+97)= - (36 + 97)
C.26 (-5)—8 =26 - 13

D.—124 - 34 =-90
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Answer:

Reference ID:(7605)

Answer:

Reference ID:(7368)

Answer:

Reference ID:(7382)

Answer:

Reference ID:(7638)

B.—36 — (+97)= - (36 + 97)

IR dg 3T AiS Rl 8 § 9 3ifqH giumd gid.

AR Sidl-TR16T gt

B.GI 3A-TRIST I
C.Ufed Sal-iRT13T &g

D.AY 3fdl-TRIeT geg

AR Sial-TRIeT geg

Choose the appropriate prepositional phrase for the given sentence:

some money for the rainy day.

A.Throw in
B.Keep on
C.Hide out

D.Put aside

D.Put aside

YT ST TUT YSA1.” T AT UebTR Sieswl.,

A HaddT

B. HgaddI]
C.fagare

D Tyt areRa

c.fasare

U Hiex dic Ufd arg 18 foHi=ar 3 Uarg Hd. 90 fohH! Suarrat < facdt
I Ysa?
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A3 di
B.2 di¥
C.5dN

D.0.5 di¥d

Answer: C.5d™

Reference ID:(7636)  faedr e va™E Géld Ug &1al.
7,49, 343,

A.350
B.4201
C.742

D.2401

Answer: D.2401

Reference ID:(7378) 531G I 1) 21 [ S R [ ——— BI0T SUR?
3MRRAT Wsarn fawgrf 2req e,

A TEHEH
B.qTY

C.Wilal

D.WRTHd

Answer: AP Il

Reference ID:(7640) A 1T 1Y 18 fAadid 3MfOr B a9 B A §R Udaedn dos= 3fef dsaed
qul xdl. O U HIH B o UahT [Gadraed e ST fabal YR gof
RGN

A1/9
B.1/7
C.1/6

D.4/6

Answer: C.1/6
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Reference 1D:(7400)

Answer:

Reference ID:(7381)

Answer:

Reference ID:(7620)

Answer:

Reference ID:(7369)

geld aTeERE A Siutar gaig fAaer.
HrE 3YUl-

A. &g (AfYd HR0!
B.<1&Y GRaul
C.go&l axul
D.fa=Iy e 3oy

D.faxIy qer 3rqur

AT Wit BV SE M HIATe! YAl TIRMEE] B
U&H HRUATIRIA T d fAfgd &l Tai?

A.3Tw5E19
B.31Twdg 223
C.31 =g 27
D. 3 w5G 169

C.3 ¢ 27

Choose the appropriate conjunction for the given sentence:

you have a minimum of 320 score in GRE, it is highly
difficult to get a seat in American Universities.

A.Unless

B.Otherwise

C.However

https://www.freshersnow.com/previous-year-question-papers/



D.Untill

Answer: A.Unless
Reference ID:(7614)  HERIY AMGAIAT THoldrd Ao guf 71q 3Tg.
A.HHd S el

B. 8T ST el

C.g&hTes Sad Tl

D . ITH SId IS

Answer: A.SHT ST FioiHT

Reference ID:(7618)  Qfeld Sal 3{hIGH! (TADHU) HGH 60 T AMMND SBIGH! JRIBRM THI
HRUGTT T o YRR AR § WIeaued! HIorer IRl Fafd smga?

A HBRTY
B.3fifszm

C.aaon
D. BB

Answer: A.II'E:WQ

Reference ID:(7362) Choose the appropriate articles for the given sentence:
He bought  wonderful blue T-shirt and wore it in evening for

office party.

A.a, a, the
B.the, the, a
C.an, the, a

D.a, the, the

Answer: D.a, the, the

Reference ID:(7611) B HRd 3107 RIMTIR GRE Ydd Tl 3 317G
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B.3%

C Sl
D. SIS Foad

Answer: D.dlcS y&%sr

Reference ID:(7602)  WhgdRI 2019 A AR Sdeid SAUIHY "TRRAR dUdl" AHE e
31T WIHadh! BIvft ST Bell BldT?

AR ied

B. YR I35
C.YRAI agad
D T GR&T 9

Answer: B. YR @W

Reference 1D:(7616) 3 YT A (SrrpTaRferg) fathites § ST Treiaud! Siord
JuTTeie g afRreed 3ig?
ATEId YurTel!
B. g vl
C.Jud1g yoreit
D. 31exefig yorred!

Answer: A. eI YOI

Reference 1D:(7623) PHIuTT g TierdreT eI greh! ST aRRIm {3101 U A1fid HRuard
3{Tel?

A.1973
B.1979
C.1983

D.1987

Answer: D.1987
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Reference ID:(7606)  QAIGAYT MasUd 2019 A ARTR HdeR YUMHYH FaSUd deddd Haid
T anfor ot sreme & 3.

AfdE TR

B.AMIYTS, UIcIed
C.3Tdl AT

D.E1. 7ig TS

Answer: Aﬁ?ﬂ:[ llgﬁil

Reference ID:(7645) IR Pal.
68,30,55,88,95&30

A41
B.21
C.51

D.61

Answer: D.61

Reference ID:(7379) SISTTeg Aaaid Ueg ol

A.2gTuTegToT
B.9TUq®
C.ddidant

D. 3{d3olTd

Answer: D. 3{d3olTd

Reference ID:(7625)  WIdIdUeh] HIUIAT Uh FREUTNT ga Teref 3g?

A.SRNE
SEEECIREER
C.gigyruit

PRSI ASKILS|

Answer: C.gisurui
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Reference ID:(7613) IR YRAMH R wledl Uegd Yafdd SRIUAE HRUI S 387

A SRHATGH el
B.3{QRT UR%H¥
C.ferrerm

D SIRGR USi=iqst

Answer: A.E‘R‘H‘I@’[ T

Reference ID:(7607) W< gail AP I HRATHLA WIelicileh! D101 IS 31152

A 18

B. A&

C.TMar

DS 30T IR

Answer: B.m

Reference 1D:(7396) eldl dTeiTd Piurd favmferg arRTer?
fdl 1S areT 38 &

A JREE
B. ¥ cUfaRH
C.UHfRg
D.31dfaRm™

Answer: A.Bilii%l%

Reference ID:(7376) ﬁﬁwwaﬁmw&ﬁw fAaer.
WY

ATTS
B.UTGIR
C.uBYe
D.uRUrd
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Answer:

Reference ID:(7391)

Answer:

Reference ID:(7370)

Answer:

Reference ID:(7604)

Answer:

Reference ID:(7358)

D.gRUrs

e smft oy gty fAger.
‘TREHT T AsGT SITd DI

A fa=ivor

B.AH

C.XTec Nt 3y
D.

C.eGaNt 3y

Choose the appropriate conjunctions for the given sentence:

Living in a village is uncomfortable the lifestyle would be healthy
of the purity in nature.

A.but, because
B.however, still
C.besides, but

D.and, because

A.but, because

St (eTexTEe) HaT 8 HIv USRIMHE 3Mesd ATal?

A FlcHANT SR
B.H&T YR SR
C.3ANHANT SR

D Uoeaid SR

D Uoeadd SR

Choose the appropriate collective noun to complete the sentence:

tried to escape from prison last week.

https://www YPESAS WA n/previous-year-question-papers/



B.A congregation of convicts
C.A gang of prisoners

D.A mob of jailbirds

Answer: C.A gang of prisoners

Reference ID:(7633) U BT Bhohdl SIdl. HIRIAR GRiaciell S &l 2 7 faHsa vl SyTedr
DI 3Mg7?
A1/2
B.3/2
C.1/3

D.3/1

Answer: A.1/2

Reference ID:(7630) o RIRall UM SIUATTAT 35% T[0T fiedIod Siied. Tl 35 0T flesTal SM1for ot
35 T AT STe, IR WRIGTa ! ST 107 I el

A.200
B.250
C.300

D.150

Answer: A.200

Reference 1D:(7384) eld de dre Ay aI] 3icsl.

AT o STeR Wesrel Tl
B. e el dTeR WS e
C. o] gl |TeR Wesrel et

D.TTeadT ol dgR WesrgdT

Answer: C. o] gl |TeR Wedrall et
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Reference ID:(7628)  Tdhl HISITHE 40 TR gY 3MTg. T UISATHYH 4 TIcR QY Big- AT S
UTuft eThal Tial. SHTURE! G dedl &1 Utad YARIgd bl Tieh. ATdT o1 Hisdr e
fopal offer gu 3M18?

A.29.16 T
B.28.16 Tic}
C.27.16 TR
D.26.16 Wicx

Answer: A.29.16 e

Reference ID:(7631) R B! fhHd 20% T HHT FTel, TR Taiid Gd HH! 7 BV TR
AT SYHT fobdil Taai- areaa Siar?

A.22%
B.24%
C.25%

D.27%

Answer: C.25%

Reference 1D:(7632) ST 2500 JUATHE Teh HUTE WRAT el 10T ATt 3500 TUITHH fasht .
diet fdhaT TRl Tadhan! HTel.

A.25%
B.28%
C.36%

D.40%

Answer: D.40%

Reference 1D:(7364) Choose the most suitable determiner for the given sentence:

Though most of the seats in the theatre have been filled, are still
left.

https://www.freshersnow.com/previous-year-question-papers/



A.some
B.none
C.any

D.much

Answer: A.some

Reference ID:(7392)  TCTd 7 SYUMRT Xeg Tc5l.
§YR, §agd, ghHI, BIRT

Answer: B."g'?ﬂf[

Reference 1D:(7383) RepTHT ST 4R,
ICENYGIER R [ —

A T ITRITd I T ATETRR fohar Ja-mamsft ey SRR a1,
B.UYT AT had TR &Y RIUMR TR,
C.9YH dIRITaId Bad a-THIRN Ja¢ UK 9T,

D. U aTaTald hIuTdTal saTRN et UM are,

Answer: ATYT FreTdtd T ARt fhar gd-mmm=ht dey o aTe,

Reference 1D:(7621) AJUBTAT BT HRATIS WTeades! BHIvre Isaidie STgeurdl W 3g?

APID
B.3{THTH

C. U3 ST
D. 3R

Answer: D 3R

https://www.freshersnow.com/previous-year-question-papers/



Reference ID:(7359) Choose the option with the appropriate suffix to complete the given
sentence:

The school conducted the annual sports day success

A.-ful
B.-ive
C.-ion

D.-fully

Answer: D.-fully

Reference ID:(7647)  S[al 1777 AL WA=AT<dT OIWOIGR WAT&RT HRUTTT SATelt. 500 Hig Aa” Afr
30T Y 1T 3YT?

AT 1818
B.AT 1818

Cc.HH 1819
DA 1820

Answer: Cc.H 1819

Reference 1D:(7386) ‘PHTIcs] ATSTAR SHAT IT dTITd BN SRAT 3Tg.

A.d- SRATT
B.d — 3HAId
C.&- 3{IEATd

D.SARSATd

Answer: A.d- AHATd

Reference ID:(7635) 4,7,10, 13... Hifdib 9% UE HIal.

A.24
B.25
C.28

D.31
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Answer: C.28

Reference 1D:(7394) =" g1 eqTd dhdd sl

ATE
B
C®
DI

Answer: Al

Reference 1D:(7612) FHGACH 10T Geiceli=dT UeRITdle a1 g1 HERIgT=A 37or 3101
foTegIi=an Wredl Ul fhIRUSATCTd 3geddld.

Aol
B.Riggf
C. PRI
D. TR

Answer: B.ﬁg@"‘f

Reference ID:(7639) SRR 20 J3Y U] JdTd SIUHH 24 fEa0id H& Udhdrd, IR 32 TV 321 GH
g sty fabdt feauid gof sxdia?

A.15 fgag
B.20 faa
C.24 faaq
D.30 a9

Answer: D.30 feayg

Reference 1D:(7648) Tf¢ a = (-20) + (-20) + (-20) * ........... 12 93T AT b = (-3) x (-3) X (-3), R a
+b= |
A.-213

B.-267
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Answer:

Reference ID:(7377)

Answer:

Reference ID:(7374)

Answer:

Reference ID:(7627)

Answer:

Reference 1D:(7393)

D.267

B.-267

feciedT RreaTTerd favand Rrsg sfie.
JHITDBRT — TATTGR X —mmmemmev

AHSH
B.Rrdft
C.SETEGR
D.YY

C.ddEeR

Choose the correct form of tense for the given sentence:

The police the place of the murder after the criminal

A.is reaching, is fleeing
B.reached , are fleeing
C.is reaching, had fled

D.reached, had fled

D.reached, had fled

TrIes 3107 feiolRI=a aamd UK 7: 2 3T, T 9Tl UNHR 504 TY 3%
18 IR =T Hfd aard TR B 3ra?

A.2:1
B.6:7
C.7:8

D.8:7

A.2:1

UeIa AT 3y faRrsuTmen watg fAger.

ary . .
https://www.freshersnow.com/previous-year-question-papers/



AU
B.HYH®
C.dudi

D.®2dldgR

Answer: C.ducT

Reference ID:(7610) XIS STORH TG UTTEHRUT (TTSITHT) + ST ATCHIS! Hootdll, RIEH
3110 SHARITYATRIS G feaaisi YT BIIRMTeST $& SIS el gall

A 3EHGTR
B.dTR

C.ATTR
D.Ties

Answer: C.ANTR

Reference ID:(7637) Uit o 40% Tamy urit vl 31107 STt WA §9+ gui @ faam 8o faret

A.48 THHt
B.32 foHt

C.72 foHt
D.60 fpdt

Answer: A.48 fpdt

Reference ID:(7360) Choose the option with the appropriate suffix to complete the given
sentence:

The bus driver suffered a heart attack while driving, but he stopped the bus
safe

A.-ty
B.-ly
C.-ment

D.-iour

Answer- https://wvg/yi{;eshersnow.com/previous-year-question-papers/



Reference 1D:(7389) fFOTICOR Sl 9 U] a8 $e.
.......... Mes TR Ad.
A DI
B.Rsd
C g
D.fo

Answer: INGAEGI

Reference ID:(7617) ST Jaul URYS (SsguiNl) =T AP ald SEATAAR 607 T4 Tdedl
IHH gIee ! YD IaRIad Hafd AIGT Jaul ATl YR S0 HRATd R

fda 3mg?

A1y
B.103
C.123

D.133

Answer: A113

Reference 1D:(7385) ot dTTdd Ie’T 3wl

AR EIEICIEICE SR

ATy

B. O
C.3mead

D.3{IdT

Answer: ATY

Reference ID:(7649)  WTdit f[adedl @A 3ihial U a1y ovH fedd 318, AR Iablal hd
3{IeSET:
2,8, 20, 48, 92, 188

A.48
https://www.freshersnow.com/previous-year-question-papers/



B.92
C.188

D.8

Answer: A.48

Reference ID:(7366) Choose the correct form of modal auxiliary verb for the given sentence:

you please do me a favour?

A.Could
B.Would
C.Must

D.Should

Answer: A.Could

Reference ID:(7353) Choose the appropriate option with the correct punctuation marks for the
given sentence:

hurry contest closes on february 19 2019

A.Hurry contest closes on February, 19, 2019.
B.Hurry! Contest closes on February 19, 2019.
C.Hurry contest closes on february, 19 2019.

D.Hurry, contest closes on February, 19, 2019.

Answer: B.Hurry! Contest closes on February 19, 2019.

Reference ID:(7603) 3P AEHURIG HhIS T U] YIUI-2019 BT RIHR HIUTAT ST S0a1d
3ATT?
A RIfrdr- IRasuRt st
B 4w~ Uhul
C.Hal-id-RdRr
D. S-S HTT-R=HT

Answer: A RIfeET- RasuR! sRRrafm
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Reference ID:(7619)

Answer:

Reference ID:(7615)

Answer:

Reference ID:(7644)

Answer:

Reference ID:(7375)

%meﬁwﬁmwﬁmﬁwwmﬁa
?

A AT G1eH fasrg Haared

B.HifReHa! i1 HRichH SrI-aa- HaTed
C Tref-Hfur ofr =18 yeavul Harey
D.UgTa 310 el HaATerd

C.TgHTur 3M1for 2redt Uehol HATe

Wrg{@@%@:@?ﬁ%%&nﬁﬁm 3T Sfear % 2ive srciedn JXdaTd akad Hiul
?

AT fIgeRH

B. TS d YoHER
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Choose the option that best expresses the meaning of the highlighted
idiom/phrase:

He was burning the midnight oil to secure a good percentile in his CAT
exam.

A.Working near the street lamps

B.Studying with a lantern
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D.Work late into the night

Answer: D.Work late into the night
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